Tabulka 12.6: Kritické hodnoty k; a ks pro znaménkovy test
PY<k)<a/2 PY>k)<af2

=005 a=0101

a=0.05a0=0101

a=005a=10,01

N |k | k| Ky | K2 NIk |k|kb|k N |k |ka|Fba| e
6106 |-]- 21| 5 |16 | 4 | 17 36 |11 | 25| 9 |27
7107 |~=] - 221 5 |17| 4 | 18 371225 | 10 | 27
g10]| &8[08 23| 6 |17 4 |19 38 | 12|26 | 10 | 28
g1 |8 [0]9 241 6 |18]| 5 |19 391122711 | 28
10119010 25| 7 | 18| 5 |20 40 |13 | 27|11 | 29
11190111 26| 7 119]6 |20 41 113|128 | 11 | 30
1212 (10| 1 |11 27| 7 |20 6 |21 42 114 | 28 |12 | 30
1312 |31 |1 | 12 28| 8 |20]| 6 | 22 4311412912 | 31
14 | 2 |12 | 1 |13 29| 8 | 21| 7 |22 44 | 15|29 | 13 | 31
15 |& |12 |2 |13 3019 (21| 7 (23 4515130 | 13 | 32
16| 3113|214 31|19 22| 7 |24 46 | 15 | 31 | 13 | 33
1714 113 2 |15 321 9 |23 | B |24 47 16 | 31 | 14 | 33
18| 4 |14 3 |15 33 (10|23 8 |25 48 |16 | 32 | 14 | 34
19| 4 |15 3 |16 34|10 24| 9 | 25 49 1732|115 | 34
20| 5 |15 3 | 17 35|11 124 | 9 | 26 50 | 17133 | 15|35




